) Ay
r S of o (a)
b, 4 N\ e

11. The profit P(x) of a cosmetics company, in thousands of dollars, is given by
P(x) = — Sx? + 400x — 2550, where x is the amount spent on advertising,
in thousands of dollars.

a) Determine the maximum profit the company can make.
b) Determine the amount spent on advertising that will result in the

maximum profit.
¢) What amount must be spent on advertising to obtain a profit of at least

547000 000 .
4'000—"'\1‘ 4 b 2 - 25¢0 F‘_"‘S_

'_2-“'90 - ‘)L.L—%/O)\ }- S_.{O

= 2 - $om k- 130 = o

N o e PIIER e00
2(1)

= Yo 34|
2

-'. P M 1 P M\
= >

=S40 = 22.5
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Chapter 3 — Quadratic Functions

3.4 — Operations with Radicals

First we need to understand that radicals (square roots, cube roots, etc) are numbers, and working
with them should not induce any kind of fear in your spirit. So, FEAR NOT!

A couple of things to remember:
1) The square root of a square number is a nice integer.

eg.v25= ¥

G

2) The cube root of a cubed number is a nice integer
X Cn
LI »i ed 3279 2 -
O~
3125 = <

Now, if we don’t have a radical with a perfect square (or cube as the case may be) we could use a
calculator to find the root.

2 o /GEC@: 4.89897948556635610639450511494118.

BUT the “decimal expansion” tends to be pretty nasty, and “exact numbers” are nicer to work
with. +/24 is considered “exact”, but the decimal expansion isn’t (because it has to be rounded).

We do need to know how to work with these radical NUMBERS. Working with radical
numbers means we’ll be adding/subtracting and multiplying/dividing them.
Before beginning, there is one thing to keep in mind:
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Coefficients with Coefficients, Radicals with Radicals

e.g. The number 25 has a coefficient part of 2_ and a radical part of \(’:

Such a number (with both a coefficient and a radical part) is called a Mfﬂ(l feé. ;(

Example 3.4.1
Multiply the following:

SIS
b)-2ﬁ><3\/6 - ,_(0\(@;2_

) 510x5 - <@

d)v2xv2 (6)2’: Ppu m

Example 3 4. Loo\:. [;jr' ¥G—J\?"3 (( {f,a réCL‘C%/&
Simplify the following:
d:k{s% Y G ﬁ” (x (512 X (5 + 2

b) -3v27 = ’5WN

- 3(HNE) = =96

J50 x(~3y24) Ai‘@
c) 2450 x(—3 _ —(ao\@_
ez . e
<2m >< ’ m) :_(ﬂo@— ][\A/ﬁ/d)
- (O(>(#9@> > =120 (3 5
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1y add or subtract

Example 3.4.3 _ “like” radicals.
Add the following: ard—5+/3 are like, but
32472
) V24132 2\/_ and 320 are not (or aren’t
= lo (2 they?.....

-2{F -3l

c) 24/5-3.20 7!
—2 L
- - oF - - 4y

d) —3\/300 ++/243

= —3(m s + I3 03y

QLIS

- -3 v 95 = 2~

ARAE) = yls =S

Example 3.4.4
Simplify:
2) 2V3(3V2-56) - (0((9 — [o@ €21 (@) (=) = (3)13)

=Gl - 1ol = (e =300

m f
b)(SJE—SJ@\@) ‘? " ~io(l, ~ Ik ff
(e(fa) 3@ o, — ]T(z

= 3L - (G -0 -2,
s T

\/_ 2 Class/Homework:
0 (5-2V2) Pg. 167 — 168 #3 — 5abc, 6 — 7acef, 8 - 13

(S*Zﬁ)Cgﬂ"Zﬁ/) 27—V —in(z + 4_@ 45
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